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Wierw aivgar aden

SCHOLASTIC APTITUDE TEST
39 WA-UF | F 100 WA ¢ | TRAF WV U Ad & 2
THERE ARE 100 QUESTIONS IN THIS PAPER.
EACH QUESTION CARRIES ONE MARK.

1. U &R | 58F T W g 7d i fGuiid G 4 8 m/s? F @ e &iat € |
Mg FR FF T T & a8 554 1 3 FHUS F1 G99 ol ¢ ot 39 999 § a9 &Y

T g0
(1) 30 WX 2 36HRY
(3) 25HRX (4) 40T |

The brakes applied to a car produce an acceleration of 8 m/ s? in the opposite
direction to the motion. If the car takes 3 seconds to stop after the application of

brakes, the distance it travels during the time will be
(1) 30m (2) 36m
(3) 25m (4) 40 m.
2. 10 gm $FHFE &I T& el 100 m/s & 37 & Foid gU formaraet © W@ 1 kg F89H
& ek F vy o & 1 9 A 2 5% G 1 aifan e
(I) 1m/s (2) I'Sm/s
3) 0S5Sm/s (4) 2m/s.
A bullet of mass 10 gm moving with 100 m/s is embedded in a block of 1 kg
which is initiaily in rest. The final velocity of the system will be

(1) 1m/s 2)  15m/s
3) O0Sm/s (4) 2m/s.
3. IEAEIA Fo1 T URHNT A & (AferiEd § § B @ 707 | R Far g 2
(1) % F FHHH () T H AER
(3) &9 H T (4) T T AFR |
The magnitude of buoyant force depends on which one of the following properties
of fluid ?
(I)  Mass of object (2) Size of oi)ject
(3)  Density of liquid (4)  Size of container.
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4. T @ 200 g F A § 9F &

(1) 720x10%y 2) 720x107 J
@) 72x108J 4 72x10°J.
The value of 200 units of energy into joules will be
(1) 720x 108 J (2] 720x107J
3 72x1084 @ 72x1094.
5. frefotaa § @ fog wman | wf &t 9 sfyead @i 2
(1) & () T
(3) g | (4 T
In which of the following media, the speed of sound will be maximum ?
(1) Glass (2) Ethanol
(3) Air (4) Vacuum.
6. UF 15 kgl a&q 1 I50 W R &M
(1) 245N (2) 245N
(3) 245N (4)  0245N,
The weight of a body of mass 15 kg on moon is
(1) 245N () 245N
(3) 245N (4) 0245N.

7. A% fFwl &1 1 A9 2 kg & Al 3EH a7 H. 18 km/h ¥ 72 km/h % FeH 7

fera T & HAT 9L 2

(1) 275J (2) 225J

(3) 15J (4) 375J.

The work required to increase the velocity of a particle from 18 km/h to
72 km/h, if mass of particle is 2 kg, is

(1)  275J (2) 225J

(3) 154 (4) 3754.

8. fwdl fama &1 dadet v gRT &1 widtawa ariaes, Jeer aur {59 € a1 yan mar |
a%] @l feafa F@l @A 9ty 2
(1) ohdl $g W (2) A GIHE T ThAT 5 F a4
(3) hdl F% A W (4) AU & yd a1 g&F BiHT & A |

The image formed by a concave mirror is observed to be real, inverted and larger
than the object. Where should be the position of the object ?

(1) At the centre of curvature

(2) Between the principal focus and centre of curvature

(3) Beyond the centre of curvature

(4) Between the pole of the mirror and its principal focus.
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9. WEW &I o # fafm swEdiE ny,n,,n, don, & AEE G EE TH 90
v 1 fod d guin mar @ | fRg emedEis are oo | g @ o stfusad
BT 2

n,

n,

L n,
~N
\ M

(1) n, 2 n,

3) ngy (4) Ng.
The path of ray of light in different media of refractive indices n,,n,,n, and

n, is shown in figure. The velocity of light will be maximum in the medium

whose refractive index is

n.

n,

L n,
N
\ n,

() n, (2) Ny

(3) nj 4)  ng

10. FrfeiEad § -8 JHRT & W H 3T & 2
(1) B & I a4l I HI <0808 W/ el
(2) @RI & fedienTn
@) e
(4) T § IRaE § werd gz 99
Which one of the following phenomena is an example of scattering of light ?
(1) Bending of rod at interface of air and water
(2) Twinkling of stars
(3) Tyndall effect

(4} Mirage in desert during summer.
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11.

i2.

13.

for o vt SFfAR ¢ WA el g 87 § &7 § eEad e & § |
TR W ARG o FI fGon &1 8 2

SEGEC|
—

——* .
—-—;ﬂ'ﬂ?ﬁqm

A

(1) TE 3R
() @ AR
(3) T Y TR B AR A T
(4) S H AR/ F AR A Y |

An electron enters in a magnetic field at right angles to it, as shown in figure.

The direction of force acting on the electron will be

1 Electron
s

— % -
> Magnetic field

(1)  to the right (2)  to the left

(3) out of paper (4)  into the paper.

6 Q % diA Yiay YR %9 ° 9IS T § a9 94N $ 15 V S 9l ¥ S T
& | el o vy o @ yefeq fera uw @it

(1) 25A (2) 20A

(3) SA [_4) 10 A.

Three 6 Q) resistors are connected in parallel and the combination is connected

to a 15 V battery. The current through any one of the resistors will be

(1) 25A (2 20A
3) S5A (4 10A.

TG W & o v A @l AT FiE ¥

(1) 101K 2) 10°K

3 103K 4 102K

The minimum order of temperature required for nuclear fusion is
(1) 105k 20 10%k

3) 103K 4 10%K
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14. 220 UM STt H 30 UMW WURY A9 I foo@d &1 20 / 5o v

g 2
(1) 3% 2 12%
(3)  12% 4 22%.

What will be the mass/mass percentage of a solution containing 30 gm of

common salt in 220 gm of water ?

(1) 3% 2  12%
B)  12% 4 22%.
15 TR g R & Feme F1 [ § 2
(1) e 2 ®m
(3) T (4) 39 G |

Cheese is an example of which type of colloid ?
(1) Gel (2)  Foam
3)  Sol (4)  Solid sol.
16. 3 fasnfts 79 4 @ B e FeriE T s6°C T 65°C ¥ | T Fasr & U
S & forg wF-9 fafer s @ e s ¢ 2

(1) 31gaH (2) TMSH 3TEe
(3) IETH (4) 99 FHEA |
Which process is used to separate a mixture of two miscible fliquids A & B having

boiling points 56° C and 65° C respectively

(1) Distillation {2 Fractional distillation
(3) Sublimation (4) Steam distillation
17 "R § HEHar soaH B aE
o 12 @ 10
3) 8 (4) 2.

Number of valence electrons in Magnesium is
(1) 12 2 10
3) 8 (4r 2.
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18. 4 T HiRdeH 0] § qrAH H TE €

(1) 6022x 1023 2) 752 x 1022
(3) 15055 x 1023 (4) 00752 x 1023
Total number of atoms in 4 gm of oxygeh molecule is
(1) 6022x10%3 (2) 752 x 1022
(3) . 15055 x 1023 (4) 00752 x 1043
19. AI*3 wdF- ¥ frmat gem g € 2
(1) e 2 R
(3) UTHI] ¥R (4)  3oFRA |
Number of which among the following is sa_me. inAl*3 and F~ ?
(1) Proton (2) Neutron
{3jl Atomic mass (4) Electron.
20. fm=1d @ er foe it pH @
m 7 2) 42
(3) 69 4 102
Which of the following is pH of basic solution ?
(1) 7 2) 42
3) 69 4) 102
21. FH-T Y 3o A9 R o e 9 e @ € 2
(1) Mg (2) Al
(3) Ag (4)  Zn.
Which metul does not react with oxygen at high temperature ?
(1) Mg 2 Al
(3) Ag 4 Zn.
22, Teg Ud WicTH i el Fehd d1etl ATFes -9 8 2
(1) EieH A (2) wEE

(3) EEEAING 37 (4) TR o |

Which reagent is able to dissolve gold and platinum ?
(I} Nitric acid (2) Aqua-regia
(3) Hydrochloric acid (4) Sulphuric acid.
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23. TS Toharetet i H-df 2 2
(1) Na 2) Ca
3) K (4)  Zn.

Which metal is most reactive ?

(1) Na (2) Ca
3) K 4  Zn.
24. =1 sfufsrar o ( x) # wewtu —
CHz— CH,— OH 111:{,221; (X)+H,0
(1) = 2) WA
(3) TN (4) THE |
Identify X in the follewing reaction —
CHy— CH,— OH % (X)+H,0
(1) Ethane (2) Methane
(3)  Ethene (4) Ethanol.
25. U WH] &I oAl @ 2, 8, 1 € | F=1 & @ g aew & @ sqet TweEte
FHAA1 &1 2
1) K (2) «l
3) N (4)  Ar

Electronic configuration of an atom is 2, 8, 1. Which of the following elements is

similar with it in chemical reactivity ?

(1) K (2) a
(3) N (4)  Ar.
26. WA GiH A 7 @ 39 forg s e S
(1) 2) "
(3) HeEE (@) T
Ethanol is made unfit for drinking by adding
(1)  Propanol (2)  Methanal
(3) Methanol (4) Ethanal.
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27.

28.

29.

30.

31.

IR T F5h & el [ ST o ST G- A & 2

(1) G (2 Tiest @

@) F=d:get Afer (4)  TTEIRIOZAT |

In a cell which cell organelle other than nucleus contains DNA ?
(I) Lysosome (2) Golgi bodies

(3) Endoplasmic reticulum (% Mitochondria.

HH W UIGY IT FT IFFTANT U <hel AT & 2

(1) ¥ 2 w9

(3) SR @ e

Which plant group is called amphibious plants ?

(1) Algae (2)  Fungi

(3) Bryophyta (4) Pteridophyta.

Y &i HIN Td Bd S aTel Fah &

(1) R (2)  REH

(3) Icargml (4) TR |

The tissue which makes the plants hard and stiff is

(1) Parenchyma (2) Chlorenchyma

(3) Collenchyma 45 Sclerenchyma.
ft & @ S9-91 URY g1 i e IE B € 2
(1) i @ et

(3) i (4)  WEIEREHA |
Which of the following plant hormones induces cell division ?
(1) Auxin (2) Gibberellin-

(3) Ethylene i+ Cytokinin.

Fas dau o el wiveial F1 Gug T Feerdl € 2
(1) e 2 oo

(3) o (4) S |

The undifferentiated mass of cells in tissue culture is called
(1) Tissue (2) Embryo

(3) Callus (4)  Spore.
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33.

34.

36.

(11)

TR & 37 <dl favar &1 gy e g 2

(1) TRY & (2) o

(3) @eA (4)  TeHEI |

Amrita Devi Visnoi of Rajasthan is related with

(I) Planc conservation (2) Education

(3) Sports (4) Politics:

TG | HAA TR B HA-4 fafror g ggumt § 2
(1) e fafeot (2) T fafeot

(3) ear faferol (4) A fafeTor |
Which radiation harms ozone layer in the atmosphere ?

(I)  Ultraviolet radiation (2) Infrared radiation
(3) Radio radiation (4) Red radiation.
FH-T1 FIHT S S FEEr ¥ 2

(1) dEm (2) s

(3) @nEaEd (4) HEEE |

Which cell organ is called "suicide bags" ?

(1) Ceitrosome (2) Chromosome

(3} Lysosome (4) Mesosome.
HRTA 71 e I &R 7 FFR F Fas 4 6l aidl ¢ 2
(1) @R tfufaferas (2) vl ufufaferan

(3) &R ufffean (4) Tfa vomt ufufuferam |

SAT-3

The linirg of oesophagus and mouth is covered with which type of tissues ?

(1} Cuboidal epithelium (2)  Squamous epithelium

(3) Columnar epithelium (4) Stratified squamous epithelium.
T FF-71 € ?

(1) @ 2) fowm

(3) TEHRH (4) I FH |

Which is the odd one ?

(1) Planaria (2) Liver-fluke

(3] Ascaris (4) Tape-worm.
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37. U I AT WAYRI ¢

(1) FE (2 TATRE

(3) = (4) e |

An egg laying mammal is

(1) Kangaroo 2 Bat

(3)  Whale (3} Echidna.
38. WG B P T I el §

(1) 807120 foedt ( 9wy ) (2)  120/80 et (9T )

(3) 100780 it (‘ORT) (4) ~ 80/100 et (UrT ) |

Normal human blood pressure is

(1} 80/120 mm of Hg (2)  120/80 mm of Hg

(3) 100/80 mm of Hg (4) 80/100 mm of Hg.
30, ¥ db a3 § wRaw & m hHfed &

() T (2) B b

@) e bR (4) @t b |

Central Nervous system consists of brain and

{1) Spinal cord (2)  Spinal nerves

(3) Cranial nerves (4)  All the nerves.
40. AT WRE fohwa Sfawy € 2

(1) U & a1 (2) 3o

(@) o (4) SRR |

Raja saurus is a fossil of

(1) Tree trunk (2) Invertebrate

(3) Fish {4)  Dinosaur.
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42.

43.

(13)
x+y+3x1/3 l/3(x +y1/.3)$TH7WLFT%
(1) x+y @ x'Payll’
@) (x+y)'/3 @ (x+y)®

The cube root of

x+y+3xl/3 1/3()c 1/3)1s
(1) x+y @ x34yl3
B (x+y)/3 @ (x+y)®

0.23+0-23 FI T el VHAT § AF & T &5 I Fd &

(1) 0-465 2) 0-465

(3) 0-465 (4) 0-4654
Expressing 0-23 + 0-23 as a single décimal, we get

(1) 0-465 2)  0-465

(3) 0-465 4) 0-4654.

A (x+42), kx? - 2x+1 1 T TEEUS §, d k & 04 ¢
2

@ -3

(1) = 3

N

Wl

(3) (4)

W

If(x+J§) is a factor of kxz—ﬁx+1,then the value of k is

3 2
(1) D) (2) -3

3) W 2

SI[®)
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44, x AR y & TA A & FEEON 3x+ 2y = 13xy T 4x -5y = 2xy F TqL H
g2
(n (23) (2} (3,2)
. 11 _ 11
3) (5’5) ) (3 ’ 2)
in the equations 3x + 2y = 13xy and 4x -5y = 2xy, the values of x and y that
satisfy the equations are
(1 {2,3) 2 (3,2)
5 (11 (l l)
3) L2,3) @ |33
45, UF HHAR & YR d UF & AR UF W @ 5 9 o 3R 16 7 B @ W a7
o3l ¥ AR & forat & 3o = 0 #101 § | HAR &1 SO §
(1) 124 (2) 1S
(3) 20 (4) 25T |

The angles of elevation of the top of a tower from two points at a distance of 9 m
and 16 m from the base cf the tower and in the same straight line in the same

direction with it are complementary. Then height of the tower is

1) 12m 2) 15m
(3] 20m 4)  25m.
.
26. R sinf = p T cosh=q @A 222" mram e
3
- 29" -q
(1) secH (2) cosec 6
(3) cotd (4)  tan 0.
. p- 2p3
If sin® = p and cos0 = g then the value of 3 is
29" -q
(1) secH (2) cosec 0

(3) . cotd (4) tan 0.
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g% AP @ BP UF WK NS ABCD % FIVT A @ VI B & WARHTE & dl HI
APB &1 T §

D C
A B
(1) 30° (2) 45°
(3 60° (4)  90°

If AP and BP -a.re the bisectors of the angle A and angle B of a parallelogram
ABCD, then value of the angle APB1s

D C
A B
(1) 30° (2) 45°
(3)  60° iy 90°

afs & mh aefa d 0 g T Fw & A LACB=x",LOBA=y’ @ x°+y° F
o &

(1) 90°
(3 150° (4) 180°
In the following figure O is the centre of circle and ZACB=x",ZOBA= Yy’ then

the value of x° + Y’ is

(1)  90°
(3) 150°
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49.

& afa § M L ACB=90" T CDLAB ¥ | 3 AD = 4 ¥ @

BD=9 WHI @1 @l BC: AC & "I &

C
A D B
(1) 3:2 20 2:3
(3) 16: 81 (4)  81:16.

In the following figure £ZACB=90° and CDL1 AB. If AD=4 cm and

BD = G c¢m then the ratic BC: AC1s

[
|
A D B
(1) 3:2 (2} 2:3
(3) 16:81 (4) 81:16.

m%@gqﬁmﬁga%ﬁmﬁlﬁﬁmmﬁzﬂﬁ@ﬂﬁﬁﬁﬁﬂ
o & -

(1) 24 ¥ (2 20 @l

@ 2d (@) 103

. If in a right angled triangle the hypotenuse is to be 1 cm longer than the base

and 2 cm longer than the altitude, then the perimeter of the triangle is
(I} 24 cm (2) 20cm

(3) 12cm (4) 10 cm.
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g1, 9i¢ U fur @0 2x2 + 3ko+ 8 = 0 & e §HH @l Al k & A &

I+

wlw Wl

(1)

I+

(2)

wloe N

(3) = (4)

I+

If the roots of a quadratic equation 2x? +3kx+ 8 = 0 are =qual, the value of k is

(1)

I+

(2)

xlw wln
-+
wloo MW

(3)

I+
I+

(4)
52. 'ﬂ'ﬁ(a=x-y,b=y—z Me=z-xB A a®+b3+c> T AR

1) 3(x-y)y-z)(z=-x) @ (x-yy-2z)3z-x)°

3

BJ_(x+y+z)3 4 x +y3+z3

If'a=x-y,b=y—z andc=z;xthenthevalueofa3tb§+é3is
3 3 3
(1) 3(x-ylly-z)z-x) (@ (x-y)’(y-z)°(z-x)

3

3) (x+y+z)3 @ x3+yd+23

53. IR U g PR 0 35 At Fd 99 W pA 9 PR WY Y@ WER 110° F B W
FH &, al ZPOA F1 T &

(1) 65° (2) 55°

(3) 45° (4) 35°
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If tangents PA and PB from a point P to a circle with centre O are inclined to each

other at an angle of 110°, then £ POA is equal to
A

(1) 65° (2) 55°
(2 45° 4y  35°

54. Q[ U qY IV A ¢, F9 W FH T 0 W B 1 g &
m 5 )

(3) (4)

N

Two coins are tossed once. The probability of getting at least one tail is

(- (2)

(3) (4)

FNTRERT

'55. tan25°tan35° tan45° tan 55° tan 65° T tﬂ'-‘1' &
() O 2 1
@ V2 @ V3.
Value of tan 25° tan 35° tan 45° tan 55° tan65” is
(1) 0 ) 1

@) V2 4 V3.
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58.
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T A.P. I U9 U3 5, 31~ &1 U3 45 & @91 AMTRE 400 € |l A.P. 1 994 G &
(1) 13 2) 11
(3) 15 4) 14

The first ierm of an A.P. is 5, the last term is 45 and the sum is 4C0. Then the

fourth term of AP. 1s

1 13 @

3) 15 @) 14

TH M Hi AT 25 m x 45 m T T AEAER Ed H 0 Hi5 T 12 0 @]
U T R A A ¢ | Al e # wER agE] 23 W % &l W, a1 &
T 3 & fore e aren e o & (= 22 o)

(1) 3005 A2 (2) 312542

(3) 315512 (@) 32052,

A cow is tied with a rope of length 12 m at a corner of rectangular field of

dimensions 25 m x 45 m. If the length of the rope is increased to 23 m, then the

additional grassy area in which the cow can graze is ( Take 1 = 272
(1) 300:5m? @ 3125m?
(3) 3155m? (4)  3205m?

3 6 At Frod A Ui & 0 A F MOA 3 A G A U deH & w9 A
1Tl ST € a6 5ieH &I S ¢

(1) 30 &t (2) 253

(3) 35 @t (4) 32 @9

If a metallic sphere of radius 6 cm is melted and recast into the shape of a

cylinder of radius 3 cm, then the height of the cylinder is
(1) 30cm (2) 25 cmn

(3) 35cm (4) 32 cm.
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59. A foRddt STt &1 TEgeTh 5 & 3R ATAE 3 & A 3T Sl w1 AN @
(n 1 20 2
3) 3 4 4.
If mode of any series is 5 and median is 3 then mean of that sen'les is
(1 1 2 2

3) 3 4 4
60: @ Wi B ABC ® W § WRAE AD FT T a5 E ¥ @ B ABCT Fg
BED % 8%l § 37 &

A
1E
B D C
(1) 1:4 2) 3:4
3) 4:1 (4) 4:3.

In the following figure of triangle ABC, E is the midpqin.t'of median AD. The ratio

of areas of the triangles ABC and BED is

A
E
B D C
(1) L:4 2) 3:4
(3 4:1 | 4 4:3.
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61, [ateEa ® d $H-T1 U B! Hifd & el & gy § GAfed T8l € 2

() (W& )
(1) % dfedr - TR &l e
(2) -9 Had - vita 1 =%
(3) TS - TE! Fell 1 Wik
(4) & et wl - F F1 AFEE Y |

Which among the following is not correctly matched in relation to the symbols of

the French Revolution ?

( Attribute ) ( Significance )
(1) Broken Chains - Being freed
(2) Breast plate with eagle - Willingness 1o make peace
(3) Sceptre - Symbol of royal power
(4) The winged woman - Personification of the law.
62. ell-1 Y Gel-1r § AT A §C Fel 2 HI 9 S
gHt-1 qlt-

(31) aRTe | e @i &r ([ 1929
@) Teswm dufaw fofe e st @ (i) 1919
(§) i &l B (i) 1928
(3) ®RR AfeEeH (v 1815
f{ :

A E} q <
(1) iii ii iv i
(2) iv il ii i
(3) i iv i i
(4) ii v 1 i,
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Match List-I with List-Il correctly and choose the correct code from the

following :
List-I List-II
(A) Napleon defeated at Waterloo (i) 1929

(B) Formation of the Hindustan Socialist Republican Army (i) 1919

(C) Formation of Comintern (i) 1928
(D) Lahore Congress (iv) 1815
Code :
A B C D
(1) iii i iv i
(2) v iii il i
(3) 1 v il it
(4) ii iv 1 iii.
63. el = Bifed

(1) ot : o 1 g1 o 1794 & wTE & T

Q) TR : it e aeE S e

(3) TRES : U TG Hi 3T AT SR A )

(4) TEA : 99 ERT AGW AT AT I |

Find out the correct explanation :

(1) Livre : Umt of currency in France, discontinued in 1794

(2) Clergy . Building belonging to a community devoted to a religious life
(3) Tithe : Tax to be paid directly to the state

(4) Taille : A tax levied by the church.

NTSE(I)/17 - SAT-212-C



(23) SAT-3
64. TREET XA & fFg 10 1 e € 2
(1) TR (2) TRIE

(3) FARH (4) UTE |

[n whic* -.iate of India is Gujranwala situated ?

(1) Gujarat (2)  Rajasthan
(3) Karnataka (4)  Punjab.

65. ‘TieH’ Iura Fre foran 2
(1) TEmg SR (2)  TEEAT 3R
(3) 3 TEEE (4 WEER

Who wrote the novel ‘Godan' ?
(I}  Muhammad Basheer (2) Rabindranath Tagore

(3) Bhudeb Mukhopadhyay 4) Premchand.
.66, T fgdhq HiA AT ?

(1) M (2) JIEHHR
(3)  whifdR (4) T
Who was Charles Dickens ?

(I}  King (2} Novelist
(31 Revolutionary (4) Monk.

67. [ @3 WAM S :
(A)  THEANT-TEAIRa 3=IeH FeRI 1921 H YA §31 |
(B) WYERI 1922 T HEEHT Tl A QAT < gy o 1 hae e ferd |

4 fed ™ Fe ¥ wE IW F I W
(1) e (A) 2) ¥dd (B)
(3)  (A) 3 (B) qF @) TG FETE
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Pay attention on the following points :
(A) The Non-cooperation-Khilafat Movement began in January 1921

(B) In February 1922, Mahatma Gandhi decided to withdraw the Non-

Cooperation Movement.
Choose the correct answer from the codes given below :
(1)  only (A) (2) only (B

(3) both (A) and (B) (4) none of these.
68. UYEH I § $2 UeiE! & %l [H@ A9 @ A A 8 2

(1)  Heh{ (2) Tl

(3) FIA (4) &I

By which name is the tribe of camel herder called in West Rajasthan ?
(1) Bhakar (2)  Faal

(3) Bugyal (4) Dhandi.

69. 1506 ﬁgﬁﬁaﬁﬁwﬁaﬁ?@@ﬁmﬂmﬁﬁ?
(1) 3BOHA I T sl

(3) IR @) T |

Where was the Imperial Forest Research Institute established in 1906 ?
(1) Dehradun (2) Calcutté

(3) Udaipur (4) Bombay.

70, B @ R v e e o g
(1) TRZY FeA &1 3RH (2) SHIfER TR ST YA

(3) U U FUWER W Y (4) TR TR F I H T |
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Which one of the .followingvincidents happened first ?
(1)  Convocation of Estates General
(2)  Overthrow of the Jacobin Republic
(3) Debates over socialism in Russia
(4) Pro;Lamation of Fhe Weimar Repﬁblic.
71. ?’ﬁ“@aﬁtaﬁzﬁm%aﬁm@ﬁaﬁawwm@mw ?
(1) 1971 2) 1972
3) 1973 (4) 1974.

When was the first one-day international cricket match between England and

Australia played ?
(1) 1971 ) 1972
(3) 1973 4) 1974,

72. R & R GH 3@ A e & 2
(1) 15200 fowmt (2) 75166 foHt

(3) 6100 frmt (4) 2000 feHr |

Approximately how much is land boundary of India ?
(I) 15200 km (2) 7516'6 km

(3) 6100 km (4 2000 km.
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73. ﬁnwﬁmﬁaﬁxw%?

(1) ﬁﬂﬂ_ﬁ (2) foa =&t
(@) e (@) oy

What i1s ‘X' in the following map ?.

(1) Jhelum River (2) Chenab River
(3)  Ravi River (%) Indus River.
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74, FR R 9 o e ¥ 2

75.

76.

(1) 1400 ot (2) 1500 fwet

(3) 860 feml 4 760 f |

How much is the length of Kaveri River ?

(1) 1400 km (2) 1500 km

(3) 860 km (4) 760 km.

frfefea & @ -8 wa o v Fq @ e & 2

(1) ™ fF @ ™ d 2) aaﬁﬂqaavs”mﬁ

(3) T T ud 3vel W (4) 3ver fe7 wd mi T |

Which one of the following is the characteristic of cold weather season in India ?
(1) .Warm days and Warm nights

(2)  Cold days and Cold nights

(3) Warm days and Cold nights

(4) Cold Days and Warm Nights.

Tt - 1 Gl - 11 F GAAT FA gU el FE 1 FF HiAC ¢

gl -1 gt -1
(37) F=Ed () IWETE
(8) 1 <E (i) dHEZ
(F) AR F @l (ii) FACF
(3) AR (iv) ¥ S |

FT

¥ & ¥ 7T
(1) i i i v
2 i i v i
@) i v i i

4) v i i i
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(28)

Match List - I and List - I and choose the correct code from the following :

(A)
(B)
©)

(D)

Code :

(1)
)
(3)

(4)

1ii

1

v

List -1
Sunderbans
Nanda Devi
Gulf of Mannar

Nilgiris

i i v
1l 1\ 1

iv 1il i

i 1i 1.

List-1I
()  Uttarakhand
(i)  Tamil Nadu
(ii) Karnataka

(ivy West Bengal.

77. 2001 I FAAT & FER (F TR’ ANG T8 &

<t 3R A & 9 Ud for@ T @

<t fealt off st # g vel for@ war €

i e v e s v e e 3

foret 3 7 o @ s ¥ oo o7 et off v B ¥ 9™ g @ fe
& ¢ |

(1)
(2)
(3)
(4)

According to the Census 2001, a 'literate' person is one who

(1)
(2)
(3)

(4)

can read and write his/her name

can read and write in any language

knows the three — reading, writing & arithmetic

is above 7 years and can read and write any language with understanding.
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N

&Y (A)
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R T ) T 4R ) T

FWUI(R) : el a1 309 ATIAH Ud Sredieh ol aret & A fasiad g @ |
(A) 3R (R) 31 W& £ 3R (R), (4) FT A FTA &

(1)
(2)
(3)

(4)

(A) 3R (R) T T & T (R), (A) T HTEAT T&T FA &
(A) TE1 € AR (R) T &
(A) T € 3R (R) W F |

Assertion (A) :

Reason (R)

(1)
(2)
(3)

(4)

(1)

(2)

(3)

(4)

E(I)/17 - SAT-212-C

Black soil has high capacity to hold moisture.

Black soil develops in areas with high temperature and heavy
rainfall.

Both (4) and (R) are true and (R) explains (A)

Both (A) and (R) are true but (R) does not explain (A)

(A) is true and (R) is false

(A) 1s false and (R) 1s true.

el - 1 oAt - 11 § Yol FTd g0 F@t F¢ F1 997 HI

v i

v

i

gt -1 gt -1
(3 o wt (i) FeER FeE
(3) I iadl (i) ferars e
(§) Weheud it (i) el fexor
(3) wile it (iv) oferard gmedt |
3 g ¥ T

ii

1l

[P.T.O.
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80.

81.

Match List - I and List - I and choose the correct code from the following :

List - I List - II
(A)  Extinct species (i)  Nicobar Pigeon
(B) Vulnerable species (i)  Asiatic Cheetah

(C) Endangered species (i) Black Buck

(D) Endemic species (ivy Asiatic Elephant.

A B C D
(1) 1 i 1 v
2 i v i i
(3) i il v i
4 v i i il
4R fon T SiEl & AR 78 FH-G Wi e A 2
YAEER FHE, 79 HR A% Toarg, 200 WA § s a1, 25° dewm@ & v
(1) el (2 8
(3) ¢ (4 T
Based on the data provided which of the following crops is most probably
indicated ?

Equatorial crop having moist and humid climate, rainfall more than 200 cm,

temperature above 25° C, main producer state is Kerala.

(1) Coffee (2) Rubber

(31  Jute (4) Sugarcane.

f=1 o @ P-a1 YRR U T T 8 ¥ R eI € 2

(1) feeed @ g

(3)  icTehr (4) A |

Which of the following cities is not connected with National Highway No. 8 ?
(1)  Delhi (2)  Mumbai

(3)  Kolkata (4)  Jaipur.

NTSE{l)/ 17 - SAT-212-C



(31) SAT-3

82, QMHTHIg &1 ATREIZA GG &

(1) @Rmﬁ%ﬁm (2) T F & U
@) di g fer (4) R F & o |
Nagercoil of Tamil Nadu is famous for

(1)  Solar Energy o (2) Wind Power

(3) Thermal Power (4) Tidal Energy.

83, WWAd 3R HHAYEFRI & Faul F1 W & arell HH-a1 () FUF Tl & ?
(A) T IS € TR1 AUER o &
(B) W% WAl U9 AU AV i AUFER a1 &
(C) W & foru e el el &
(D) G AT &1 IUFR 7 T Fedsh ¥ ABATAD &1 & |
(1) ACD 2 AB
3. BC (4 A BD.

Which of the following statements about the relationship of Democracy and

Human Rights is/are correct ?
(A) When there is democracy then Rights are certain
(B) Every democratic state gives rights to its citizens
(C) Rights are not necessary for Democracy

(D) Every country that gives rights to its citizens is a democratic country.

(1) ACD 2 AB
3) BC (4 A B D.
84, WRAM Y& Tl % GH HHG & FY H HH Fd &
(1) &g §ATeE (2) U ST
(3) YRd & Tgafa (4) A e |
Who acts as the Supreme Commander of dgfence forces of India ?
(1)  The Chief of Air staff (2) The Chigf of Army staff
(3)  The President of India (4) The Chief of Navy.
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85. 'R Hiedl v HI WL FTA G o 3fad FUA €

(4) AT g6 gRT AR AR FA d
(B) T & YHE IHGART §RI HH FAeed HFA 9 Hrag
(€ T 3w & fe feam
() TR ¥ g TR ) S |

(1) ABC 2 AB

3 BC | 4 C D

Choose the correct statement describing the word ‘code of conduct' :

(A) A setof norms and guidelines to be followed by political parties

(B A set of norms and guidelines to be followed by candidates in

Election
(C)  Guidelines for Election Commission
(D) Compulsmy' voting for voters.

() ABC ) AB

- (3 BC 4  CD.
86, 1 § @ -1 T WM F FE TR F & 2
Hfeume A & AUHRT &1 6w g

(B) T WTHR % HIHHS & i U Ha 8
(O T S P @ o A
(D) Te T I aNet A F1 AT 77 FIATE
(1) A BD 2) BC
3] ABC (4 B CD.
Which of the following statements pl’OpEl‘l_';' define the 'Constitution’ ?
(A) Constitution protects the rights of citizens
(B) It determines the functioning of governments
(Q) It determines the process of legislation
(D) It decides the name of person who is going to be the President.
(1) A BD 2) B C
(3) A B C (4 B CD.
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SR A, TR, T GHar o fovd wifd & SR A @

(1) SO 5 H (2 ¥ TY
(3) fava 4% 4 TG

Which one of the following is the Institution, functioning for Internationfal law,
Security, Social equity and World peace ?

(1) International Monetary Fund

(2)  United Nations Organisation

(3) World Bank

(4)  None of these.

ST SEHA 1 3d WIS FREAT F WO R AR G911 5@ foare

A

3
(1) W YR 3 @F (2) SRR AR
(3) I T g (4) o dlo IR0 FAIH |

Who among the following was the pioneer, to abolish caste inequality and

establish social harmony ?

(1)  Sir Sayed Ahmed Khan (2) Dadabhai Naoroji-
(3) W.C. Bonerjee (4) Dr. B. R. Ambedkar.
A $9 @uA Gu U € | S gefera @ g, sifen

(1) S &1 9 GOY & 9N faerg g &

(2) 3ffeEH g wifqqol ETeH FoTaA 1 HAd Fd &

(3) HHS H & YSIed G gehal §

(@) FER ) e e 9w

Select the mismatched statement given below :

(I) Democracy evolves through public struggles

(2)  Peaceful and non-violent struggles étrengthen democracy
(3) Democracy exists only through struggles

i4)  Freedom of expression is the identity of democracy.
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90. i HawAl & €Y H HIA-W1 $YA FHlcAd Fl & ?

91.

(1) wieda 3R fgwg a8 9ad @

(2) AFVTEN ¥ 3FEHEAT T8 e

(3) A B SEAHAT S @l &

(4) @iaa foant g sfigq @I et a1 ¢ |

With reference to democratic system, which statement does not match ?

(I) Democracy and development go together

(2) Inequality does not exist under dictatorship

(3)  Inequalities exist in democracy

(4)  Democracy provides freedom of expression and livelihood.

WA YTl el § Gl #t GReR & G99 § $9 $yd fqu 10 § 1 St 3fe
T & 3& aifey -

(1) 3 g4/ § a1 1 SFieRt

(2) UM YATEd i Glshadn

(3) 91 H Gishg Tiafany
(4) & U | H 9 forr |

There are some statements with reference to power sharing in Indian democratic

system. Select the irrelevant statement :

(1) Participation of public in general election
(2)  Activeness of Gram Panchayat

(3)  Activities of Army

(4) We participated in Gra

NTSE(Il)/17 - SAT-212-C



92

94,

(35) SAT-3

JIEY 9 98 ¢ fogd

(1) Wigpias i = &
(2) AT ST &

(3) WIS WE 1 379 &l

(4) @ @I e el e el

Homogeneous Society means

(1) - Similar kind of cultural heritage

(2)  Exist Caste based differences

(3)  Absence of community feeling

(4) Different kinds of living style of people.

A 5 dedt & AW Rr Mo |

(1)  9RAE Fa1 9T, WA TLTE Hi0H, ISl g6

(2) YRdE FFHR TR, o7 39 TRt

(3) 3fEer yRdE foendt wRyg, yRdE TG B G

(4) T WA W, GO i |

Select the mismatched pair from the following names of organisations :

(1)  Bhartiya Janata Party, Indian National Congress, Akali Dal

(2) Communist Party of India, Telugu Desam Party

(3)  Akhil Bhartiya Vidyarthi Parisad, National Stx;dent Union of India

(4) Bahujan Samaj Party, Trinamool Congress.

‘@ FitT' & smTT KA 3 9 9 9 & S F SR ¥ o B § @ W
39E R TS 2

(1) 39 WER fHE (2) TEREEE IaE

@) Far gl (4) THI TR |

Under 'Green Revolution’ in India to increase the production of wheat and rice
which of the following measures were adopted ?

(I}  High Yielding varieties (2) Chemical fertilizers

(3)  Irrigation facilities (4) All of these.
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95. HAd G5t faiv &g fi & @ F-w1 few foar s @ 2
(1) foen @ @re g (2) e, wireror v @ e
(3) fomen wd mAGH (4) WA AT TF FAGH |
For Human Caéital Formation investment is done in which of the foliowing ?
(1)  Education and medical care
(2]  Education, training and medical care
(3) Edlucation and entertainment
{4)  Medical care and entertainment.
96. WRA § Wigd FeiRl Savashal HEV: T U6 TR &7 5 9iq @ Jded &
(1) 2400%@21(}_0%&1{1
(2) 2100 HEART TE 2400 FART
(3) 2300 HERI T 2000 FeARI
(4) 2000 FeRI T8 2300 e |

The accepted average calorie requirements per person per day for rural and

urban areas in India are
(1) 2400 calories and 2100 calories .
(2) 2100 calories and 2400 calories
(3) 2300 calories and 2000 calories
(4) 2000 calories and 2300 calories.

97, IAY Ao fFw ad § wRey ) 2
(1) 1995 (2) 1996
(3) 2000 (4)  2004.
Annapurna Yojna was started in which year ?
(1) 1995 (2) 1996

(3) 2000 (4)  2004.
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‘qE o frae” fres gr vt 1 T & 2

(1) UNDP (2) UNESCO

(3)  WHO (4  WTO

‘Human Development Report’ is published by

(1) UNDP (2)  UNESCO

(3) WHO (4)  WTO.

forshrer & W YIRA  IRA & &3 ° f 8 F1 wew dgr g 2

(1) e & 2 [feds a7

(3) T A (4 s Ue fdas &F |

With development in India, in production sector, the importance of which sector
has increased ?

(1) Primary sector (2) Secondary sector

(3)  Tertiary sector (4)  Primary and Secondary sectors.

A A § FE- 9RdE S SO SO 6 89 § I &

A G 2
(1) 2RTHERE 2) THifgq
(3) e (4)  FHIAWR |

Globalisation has enabled which large Indian company to emerge as

multinational company ?
(1) Tata Motors (2)  Infosys

(3) Ranbaxy (4)  All of these.
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